R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-850 Masonite ST Opaque (LK,DB)\C - Drawings\TX-4651.54.dwg, TX-4654

SOV ui
POWERED BY|W, Sonris o |58
Pl S T & o< 1
/| 37.5" MAX. OVERALL T iS '--.:%;'33 (o FEI T
FRAME WIDTH SOy iR o BlsL 8 zZc
T8 9w 2z “wu 9., QY
of ioiny QA0 Z .. Fu
® : jwiy o D s B o
v xS @EK |8 G &
DOOR COMPONENTS MADE IN THE USA If‘;'p 5'8 T Xez £ £ §§ oe
‘o‘.‘ :‘ :: ...‘ Gy -4 O
S s et b
1 :\ N \-\_N &\ O N -2 @ o
JaLhee i 0 3 F: tg
° £me Ob
9.t g°
& 3592 g
g oL gg
Opaque Steel Door P S
°
: £
o) &
— Z o
"NON-IMPACT" o =
INSWING / OUTSWING Z 3 =2
£ £ o9
— wn
5 O 25
o ¥ I =5
Lt w < =
2 2 s Iyks
® K =R [ [Rer
LL. . ] = J
< < o o
S 2 <3
X 0z , 5 5 ai
= = 3 o F
EVALUATED FOR USE IN THE STATE OF TEXAS ® é’ & % o
The Steel Door system described herein complies with the 2018 International N
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building g %
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the -
following conditions: e
[&]
1. Anchors shall be as listed and spaced as shown in the details. Anchor : o
embedment to base material shall be beyond wall dressing or stucco. S %
2. When used in areas requiring wind-borne debris protection this product is 13l 1
required fo be protected with an impact resistant covering that complies : ; g
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. £ N
3. Allowable design pressure requirements must be equal to or less than the Lg N E
design pressure rating shown in the design pressure chart, sheet 1 of this 5 2l x
drawing. A1
4. Conditions not covered by this drawing are subject to further engineering 1
analysis. ‘ ' ' 2|5
>
N
OF =
TABLE OF CONTENTS N 23(
SHEET# DESCRIPTION = -
1 Typical elevations, design pressures & general notes — o ‘ = - %
2 Door panel details X INSWING +40.0 -40.0 0ATE: 11/08/16
3 Horizontal & vertical cross sections ScAlE: N.T.S
4 Vertical cross sections X OUTSWING +45.0 -45.0 DWG. BY: ' J K
5 Frame anchoring —
CHK. BY: LFS
DRAWING NO.:
TX—~4654
SHEET _]1 oF _5

© 2016 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DBN\C - Drawings\TX-4651.54.dwg, 2.8

STILE (LVL)

INTERIOR

— 175" —=

0.81" -—

35.75" MAX.
PANEL WIDTH

95.25" MAX. PANEL HEIGHT

&P

® O

l
D

DOOR PANEL
Masonite

Steel (Wood Edge}

DOOR SKIN: 25 GA. STEEL (0.020" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

EXTERIOR

m HORIZONTAL CROSS SECTION

STILE {LVL)

LOCK BLOCK
(WOOD: 12" LONG)

2/

<

SEE HARDWARE
TABLE

0.81"

KWIKSET

LATCH: KWIKSET SIGNATURE SERIES {991)
DEADBOLT: KWIKSET SIGNATURE SERIES (980/985)

TOP RAIL

[WOOD)] ~_|

25 GA. STEEL
DOOR SKIN

INTERIOR

FOAM CORE

N

0.81"

BOTIOM RAIL
[WOOD COMP.)

/ 2"\ VERTICAL CROSS SECTION

\2/

Lo ; 4]
?:.‘!5‘3 & oy
’Cf Al PR , w £ g i
s 1 3 ", £ 2 %m
J 7o 0w o2 a]5 .2 Zv
pui i wwd - lou 9w QY
$O PNiwiy 2iggQ|ut f,p G
st iz i0 g:: < E P
s, 0T GF'S 38 284 2%
Yoo, 0] RSN |sF E:cg 8¢
&%, Iz o ) 459 0
Iz ‘el s st ﬁ 25K é
lz $ >~ #ae0ls n-n
AN 28% 8B
d34bLeaay & own-: ED
. ox2 &
z 9 [N
8 "'mo 00
8 .30-5 a
£ Bok £E
o og
S
2 i
5 o
O
]
Q
w
=
=
L
< 'a)
S Iyo
8 @ =
EXTERIOR S |3 =
] o &
1]
o
S
£ o &
Q
= o
S &
& &
O -
ot [0}
Let
[}
]
s
)
8le
NN
Sl®d| v
X Z
|0 O
R 2
Eo] @
s°| &
E Bl
@ [
© oI
Py )
<
o))
NRE
Q <
N
- o
z
paTE: 11/08/16
SCALE:  N.T.S.
owe. BY:  JK
cHK. B:  LFS
DRAWING NO.:
TX—~4654

SHEET 2 oF 5

© zo16 R.W. BUILDING CONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DB\C - Drawings\TX-4651.54.dwg, 3.8

2X FRAMING 2X FRAMING ONN, oa
63/ - (G >=042 oo | SRR Sy g% 0.
~¥ , — ] ‘ Soeifidol | o (52 g BB
b bl A R f \ *-‘. .:ES .."4}2{) ~ 5 s 3 g’) £C
' il m T 1B, azd e |24 €8 8r
I @] @ EXT. SHEATHING k1) L EXT. SHEATHING 14 o %’3% ioid BRGS |4, LdB Ya
11, 1 i HTN HES o
S DRYWALL My \ DRYWALL Dw 14 iS E.é‘ §|§ g -§$ g%
7 ) s 10T XS 3 Sge bk
4 RS f .: | ("‘\}."o :.D : 0“‘% a > 2 Qé
) ;",  1 f E 1 - _},: 132 d’-’;’" Ez :-".‘.QQ“’":‘ g 9) w o%
‘ | #10x2-1/2' PFH 7 | #10X3'PFH gy xi £ & S8 &g
i 7| WOOD SCREW It L1 WOOD SCREW Laaaiea 3 2%8% s,
L . L I - o)
| 1/4" MAX. 1 1/4" MAX. {7 | g 2455 9
SHIM SPACE il e SHIM SPACE Ll £ Aok gg
2Ze PR
S8 H k
' = g
= 00p000] 8
N |l © DOOR PANEL ~ * DOOR PANEL
w X v HEAD: PINE \ HEAD: "FusionFrame" (1-PIECE) g
ENDURA WEATHERSIRIP ENDURA WEATHERSTRIP E‘é
(QEBD/PE 650) (QEBD/PE 650) < =5
I\ S
EXTERIOR INTERIOR EXTERIOR W INTERIOR S |9 zg
o =
| g SR
N
/"2 VERTICAL CROSS SECTION /" 3\ VERTICAL CROSS SECTION o |5 E°
w OIUfSW‘”Q Sho‘d”” - Inswing \y Outswing shown - inswing S ol
> ¢ CORNER PADS Qiso approve also approved § E:E
7 ve) o o
7NV 3 V2 o1 5 &
AL AL smsace ][ CSIK SHIM SPACE 8
EXT. SHEATHING (TYP.) _ EXT. SHEATHING IS
\\ JAMB: "FusionFrame" / ~lo
. . . 1 OR 2-PIECE S|E
| | T / #10 X 2-1/2" PFH — S 2
z #10X 2-1/2" PFH - = olo| 15
N SNAP-ON (G>=0.42) 2X FRAMING Elo| @
CAP RN ENDURA WEATHERSTRIP  ENDURA WEATHERSTRIP (G >=0.42) SIF
. / (QEBD/PE 650) (QEBD/PE 650) / HE
B [
2 " EXTERIOR als
2 m EXTERIOR 3
- >
O S |
)1 18I - N 2 1
Dz e e \ S -2
118 oaTE: 11/08/16
— s | e L , DRYWALL/ / \ INTERIOR S DRYWALL :
]'25 - ".25| - #8 X ]n PFH SMS e e SCALE: NTS.
#8 X 2-1/2" PFH WOOD SCREW R ——
JAMB / HEAD JAMB / HEAD JAMB S HNGE LATCH #8 X 2-1/2" PFH o
PINE "FusionFrame" "FusionFrame" #8 X 3/4" PFH SMS STRIKE PLATE WOOD SCREW DRAWING MO
(1-PIECE) (2-PIECE) /"1 "\ HORIZONTAL CROSS SECTION X654

w Inswing shown - Outswing also approved

SHEET _3 oF _5

© zo16 R.W. BUILDING DONSULTANTS INGC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK, DB\C - Drawings\TX-4651.54.dwg, 4.8

A\ Y
INTERIOR /( EXTERIOR
DOOR PANEL
/
ENDURA
DOOR SWEEP
/1? / {DBK-R)

J LN 1
(=)

213

\\
INTERIOR EXTERIOR
DOOR PANEL
ENDURA \
DOOR SWEEP
(DBK—ZAC)\ # ﬁz
4)5

SERLD
&“?*-‘ f-\} 1‘!1‘ ~
ENDURA SoneiQf 4l | &
WEATHERSTRIP - — DOOR PANEL S (il §
INTERIOR EXTERIOR EA iTi "9 °
(QEBD/PE 650) S A I
ENDURA A _ Fuf inil %%
WEATHERSTRIP,_  INTERIOR EXTERIOR 3 O iviz @
000 e ¥
oY 0T N7
( Lo, . 0 - o
"? ok, iQ H <D
Iz& ORI .»"‘Q{"-’S’
O.F 5> o0 o
Wi | PR
r D s

AN

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/1 "\ VERTICAL CROSS SECTION

w Inswing Adjustable Threshold

INSWING ADJUSTABLE THRESHOLD
ZAIL4565

456" : !

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION

\U inswing Articuloting Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7“4\ VERTICAL CROSS SECTION
W Outswing Bump Threshold

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION
w Outswing Bump Threshold

p—
\/)ﬁ 3
A
456" ! ! 4.56" ! ! 4.56" ! ! 4.56" !
2 INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
ZAILAA4565 ZAIAA4565FN ZAI4565RDS

ZAI4565FN

R

456"

4.56"

INSWING ARTICULATING THRESHOLD

| 456 |
10 INSWING ARTICULATING THRESHOLD

6 INSWING ARTICULATING THRESHOLD 7 INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9
ZACL4545 JACA565FN ZACLAA4565 IACAA4565FN ZACA4565RDS
] ) ]
TN = @%@ :
% X h .
AR i [ A S A
4.56" ! ! 4.56" ! !~ 4.56" ! ! 456" !
1 QUTSWING THRESHOLD 12 QUTSWING THRESHOLD 13 OQUTSWING THRESHOLD 14 QUTSWING THRESHOLD
ZOB4565FN LOBL4565 ZOB4565RDS FOB4566

Lyndon F. Schmidt, P.E,
TEXAS P.E. #104123
813.659.9197

P.O. Box 230 Valrico FL. 338595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR _ASSEMBLY:
BY

UPDATE TO 2018 IBC/IRC CODE

10/28/19|ADD "FusionFrame” OPTION &

1

REVISIONS

P
<
o
o
z
6

oatE: 11/08/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4654

SHEET 4 oF 5

@ 2016 R.W., BUILDING CONSULTANTS ING.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DB)\C - Drawings\TX-4651.54.dwg, 5.8

s, g
2oz
O
S O
(]
RN:
3
8
8 ER
b\
=.
>
B
] V]
F
HINGE JAMB
CONCRETE ANCHOR NOTES:

SEE HINGE
DETAIL 1

SEE HINGE
DETAIL 2

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PSI)

WOOD (G >=0.42)

1. Concrete anchor locations at the corers may be adjusted to maintain the min.
edge distance fo mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" musf be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

i
2X FRAMING HEAD ANCHORS: ST Ry o8 "
(BY OTHERS) #10 X 2-1/2" WOOD SCREW (PINE JAMB) '9"59‘...--:' Qf. 6:%, 28 o &9
#10 X 3" WOOD SCREW (1-PIECE JAMB) - 7n 22 § P £+ 3 &2
& ENF N iGie ouogm 2l
e gus inia w g Hou
(TYP.) SO ITRE NN c P
—t Gui TS RTTES
| T X7 §¢ 5£g 58
_ Y 19 325 [
’ zlz*;{.:)- FUog 5Q® &
Noyi- i ® & on - £0
— NiyyadansS ox2 K
= ﬂ.: —d hod z O .
> i g Zmg O
= s Z 2 3 S 5 o
5 & £ 3ok EE
o ?5 o e 86
-~ JAMB ANCHORS: &9 : E
#10 X 2-1/2"WOOD SCREW (PINE/2-PIECE JAMB) ¥ O £ @ gg
#10 X 3' WOOD SCREW (1-PIECE JAMB) o) 3
[a]
yd Eg s
] Q<
SEESTRKE”™ | T g T
B T PLATE DETAIL i 3 |5
.z ? N
<z ol =
; U <C CQE:
S 5 o -
3 (o]
B 2 °
o 24
I % - & E
SILL ANCHORS: £ %
#10 X 2-1/2" PFH WOOD SCREW o
1/4" X 2-3/4" ELCO OR STRIKE JAMB S
FRAME ANCHORING ITW CONCRETE SCREW : 5
X 3l
3 DEADBOLT SECURITY 3 S "
. STRIKE PLATE N
#10X 3" PFH WS <= || |8
[ Elo]| |0
=
#8 X 2-1/2" PFH WS ———1 5| |
LATCH STRIKE 21
A PLATE ks
. NS
STRIKE PLATE DETAIL <
8]
R
S

3. Concrete anchor table:

MIN. CLEARANCE

W - N
TAPCON® | /4" 1-3/4" 1-1/2 4
ELCO i1 " " "
uttRACON®|  V/ 1-3/ 1 4

7 #8 X 2-1/2" PFH WS

#8 X 1"PFH wsé

1%

| I U |

= #8 X 3/4" PFH WS

~— 4" X 4" HINGE

HINGE DETAIL 1

| #8X2-1/2' PFH WS
® L]
" =* H|®
#8X 1 PFsté,-_‘_ S~ 48 X 3/4" PFH WS

~— 4'X 4" HINGE

\

W

HINGE DETAIL 2

1

e
<
a
o
z
6

oATE: 11/08/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. B8Y: LFS

DRAWING NO.:
TX~-4654

SHEET 5 ofF 5

© 2016 R.W. BUILDING CONSULTANTS ING.




